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] PR FeR ] FeR FeR
JIEAE i H ¥ B R (%) | MEpE | & % (1) (%) IS i H ¥ B (K (%) | MEpE | & % (1) (%)

1 (271 —3 1,345,267 17.7] 1 97,288,480 14.4 41 |k 1l 3,820 0.1 41 187, 385 0.0

2 |H—Hmss 906,800 11.9] 2 85, 407,878| 12.7 42 |HE 1 3,720 0.0| 40 198, 297 0.0

3|H—% (—#m) 734, 620 9.7 4 48, 204, 459 7.2 43| T — 2,280 0.0 43 122, 772 0.0

4| =% (AT L—) 579, 754 7.6 7 33, 535, 525 5.0 4 |=—HL vk 1, 050 0.0 44 40, 370 0.0

5| kv akstE 282, 258 3.7 3 53, 406, 444 7.9 45 & 7 790 0.0 45 30, 140 0.0
6 | A X —F—A 213, 242 2.8 11 14, 295, 199 2.1
7 |H—ig 212, 420 2.8 10 16, 837, 755 2.5
S| T/WVA+a A—=UT 203, 084 2.7 8 23, 053, 040 3.4
9 |H—~_Z 189, 003 2.5 15 8,918, 951 1.3
10FV == ZLHBEHS 169, 448 2.2 5 47,960, 917 7.1
1A Ed 143, 534 1.9 14 10, 039, 491 1.5
12 | & /855 137,918 1.8] 16 6, 707, 257 1.0
13 | F Do 137, 674 1.8 6 38, 696, 434 5.7
14 |#% % 123, 020 1.6] 12 13, 829, 130 2.1
15 |E/N35 117, 990 1.6] 17 6, 247, 681 0.9
16 |7R/N3G 105, 390 1.4] 20 5, 229, 950 0.8
7|2y 101, 037 1.3] 13 10, 659, 909 1.6
18 [fEgtR A A I B 100, 760 1.3 9 17,571, 503 2.6
19 |[AA hE— 72, 490 1.0| 26 3, 192, 299 0.5
20 |F>r 77 LA 56, 005 0.7 24 4,142, 244 0.6
21 NA TV hF—2R 49,919 0.7 19 5, 257, 245 0.8
22 [ZFDhoOEE 45, 045 0.6/ 23 4, 346, 386 0.6
W TTVHTA 41, 505 0.5 25 3,691, 975 0.5
24 (-4 by 41,162 0.5 31 2,067,212 0.3
25 | AF v 41,071 0.5 27 3,075, 188 0.5
26 [BRFuE A 37, 005 0.5 18 5, 298, 645 0.8
2 |Fa—U v 36, 843 0.5 29 2,469, 264 0.4
28 | A7 L —HE 35,978 0.5 21 5,037, 118 0.7
29 |FR—hsE 32,012 0.4 28 2,491, 610 0.4
30 [fL 4 24, 470 0.3 33 1,478, 610 0.2
31|70 —o7 23, 670 0.3 32 1,584, 715 0.2
32 (T — 22,775 0.3 30 2,188,131 0.3
33|74 A 12, 420 0.2 37 703, 252 0.1
34 |7 AR Z— 11, 810 0.2| 35 1,007, 716 0.1
3B ZUT 8, 698 0.1 34 1, 286, 899 0.2
36 (T AY 2—A 8, 394 0.1 36 834, 784 0.1
37| 7 VT A 6, 996 0.1 39 348, 464 0.1
Bl Va—A 6,733 0.1 22 4,609, 417 0.7
39 [A] 3K 6, 691 0.1 38 524, 260 0.1
40 [V¥ b U R 4,135 0.1 42 172, 651 0.0

Z DoETE 440, 399 5.8 33, 414, 038 5.0

3 L) 504, 986 6.6 21, 778, 981 3.2

33 k2 220, 842 2.9 24,421, 578 3.6

= i 7,606, 933| 100.0 673, 891, 649 0.0




